Hand Operated Chain-off Thread Rolling-in Device
FHEEHBAHRKE

T 29336906

No.1279-00




REF. NO_ _ NOTE ~_ PARTNG. . ___ ] DESCRIPTION __________ S S S aty _
1 MAZ-182010A0 ROLLING-IN DEVICE ASM. IR IIVOFSI 1
2 HAZ-19202000 ROLLING-IN BASE o VAESEY M (D
3 MAZ-19203000  CHAIN-OFF THREAD PRESSER PLATE IFHvAIIf4 (D
4 MAZ-08204000 REGULATING SHAFT hFhYTY Favey v o (1)
5 MAZ-08205000 REGULATING KNOB hFhYTY Favky Y33 (1)
6 WAZ-08206000 REGULATING SPRING BINVTY FAULY N 3 (1)
7 MAZ-08211000 KNIFE IF{AR (1)
8 MAZ-08212000 KNIFE PRESSER IFAR ¥ h R (1)
9 58-4080415-SP  SCREW 1/8-44 L=4 Fa° 39" 1/8-44 L=4 (N

10 5S-8080410-TP  SCREW 1/8-44 L=3.5 bAZY* 1/8-44 L=3.5 (2)

11 SM-4040755-SP  SCREW FATIRY M4 L=7 (D

12 MAZ-192040A0 CIRCUMFERENCE STOPPER ASM. Yyt ey Ar3 1

13 MAZ-19204000 CIRCUMFERENCE STOPPER Yyt -yppt A (n

14 D2527-232-D00  SLEEVE I x e 47 (D

15 NM-8050001-SP  NUT M5 nyh7#¥h M5X0.8 192 (1)

18 R0O-0401002-10° O-RING oy (N

17 124-03457 CLOTH BASE COMPL., RIRAHYT Y 1

18 124-05809 THREADING DIAGRAM VeZe 1

19 124-11005 FLYWHEEL NZT 32 A{C) 1

20 SM-6051600-SP  SCREW M5 L=16 k5%y* M5 L=16 3

21 124-36309 LOOPER BALANCE(LEFT) S ST Z D) 1

22 124-36408 LOOPER THREAD GUIDE( INNER) B=n =L b TYH (D) 1

23 124-36606 LOWER LOOPER THREAD GUIDE JAN-N - TV 1

24 124-36903 THREAD GUIDE(LEFT) FEN-N —ANTYH (2R D) 1

25 58-3090610-SP  SCREW 9/64-40 L=6 iy 9/64-40 L=6 1

26 124-47603 THROAT PLATE BASE MR 1 1

27 R4200-L2E-E00  THROAT PLATE N4H 1

28 124-76800 MAIN FEED DOG VEY VTN 1

29 124-79101 DIFFERENTIAL FEED DOG vl 1

JUKI CORPORATION

JUKI Bk &4t

HELKD, TS
To order or for further
information,

please contact :

Copyright (€) 1993 JUKI CORP
FEORFEFMTER, HETs &
EHILLET,

HIDA=Y YA MIERREOE=HFEELEETIENSEY =,
*The description covered in this parts list is subject to change for improvement of the commadity without notice.
HoOR—J URA M 1999488 REOHRUBTRELLLOTT,

All rights reserved throughout the world. *This pants list is edited in accordance with the product specifications as of August 1999.

(E} 99 - 09 Printed in Japan




